
Ethos Transit 

Ethos Transit cannot be retrofitted <p>

If needing to add transit, please contact Customer Service for a Replacement Seat Frame
 

Item Number Part Number Description Quantity Retail

1a 003846 M6 x 50 BHCS, Custom, Blk Zc 4 $14.33

Used if Swing Away Arms are not present

1b 003232 M6 x 55 BHCS Blk Zc 4 $8.76

Used if Swing Away Arms are present

2a 003848 Back Bracket Saddle 1 1/8" 2 $1.06

Used if Swing Away Arms are not present

2b 004116 Saddle, Swing Away Arm, 1 1/8" Tube 2 $1.11

Used if Swing Away Arms are present

3 003849 Saddle For Dimple 1 1/8" 4 $0.43

4 109296 Back Bracket with Transit, Black, Rigid 2 $26.20



Item Number Part Number Description Quantity Retail

6 100658 M6 Nylock Nut Blk Zn 4 $1.03

7 100746 M6 Flat Washer Blk Zn 4 $1.55

8 101853 M6 Washer Blk Zn 4 $0.52


